

FACILITIES MANAGEMENT, DESIGN AND CONSTRUCTION

Home Facilities Operations Real Estate Services Project Management

COLE COUNTY

COUNTY	LEASE ID	EXPIRES	ANNUAL RENT	COST PER SQ	TOTAL SQ FT	SPACE USE	AGENCY		ADDRESS	СІТҮ	LESSOR
Cole	02600019	6/30/2021	\$24,605.00	\$9.50	2590	Office	PUBLIC SAFETY- LEASING	STATE HIGHWAY PATROL	1617 Southridge Drive	Jefferson City	VITAGEE LLC
Cole	02600137	6/30/2020	\$142,740.00	\$7.31	19529	Office	ELEM & SEC EDUCATION-LEAS	DIVI OF FINANCE AND ADMIN SER	3024 Dupont Circle	Jefferson City	SCHERR, R J
Cole	02600142	6/30/2017	\$22,020.00	\$7.34	3000	Office	HEALTH & SENIOR SERVICES-LEAS	OFFICE OF THE DIRECTOR	930 Wildwood	Jefferson City	RICHARD A HOWERTON PROPERTIES
Cole	02600142	6/30/2017	\$418,380.00	\$7.34	57000	Office	HEALTH & SENIOR SERVICES-LEAS	DIV OF COMMUNITY & PUBLIC HLTH	930 Wildwood	Jefferson City	RICHARD A HOWERTON PROPERTIES
Cole	02600231	6/30/2018	\$256,230.00	\$9.49	27000	Office	JUDICIARY-LEASING	OFFICE OF STATE COURTS ADMINIS		Jefferson City	RICHARD A HOWERTON PROPERTIES
Cole	02600253	6/30/2021	\$258,000.00	\$9.83	26256	Office	PUBLIC SAFETY- LEASING	MISSOURI GAMING COMMISSION	3417 Knipp Dr	Jefferson City	OK KNIPP LLC
Cole	02600327	6/30/2017	\$107,788.24	\$7.49	14400	Office	HEALTH & SENIOR SERVICES-LEAS	ADMINISTRATION	920 Wildwood	Jefferson City	RICHARD A HOWERTON PROPERTIES
Cole	02600327	6/30/2017	\$341,329.41	\$7.49	45600	Office	HEALTH & SENIOR SERVICES-LEAS	DIV OF COMMUNITY & PUBLIC HLTH	920 Wildwood	Jefferson City	RICHARD A HOWERTON PROPERTIES
Cole	02600435	6/30/2018	\$55,711.08	\$9.51	5859	Office	CORRECTIONS- LEASING	DIV OF HUMAN SERVICES	117 Commerce Drive-Ll	Jefferson City	MBM PROPERTIES LLC
Cole	02600482	6/30/2020	\$186,399.71	\$9.11	20461	Office	HEALTH & SENIOR SERVICES-LEAS	DIV OF REGULATION & LICENSURE	3418 Knipp Drive	Jefferson City	OK KNIPP LLC
Cole	02600482	6/30/2020	\$61,310.30	\$9.11	6730	Office	SOCIAL SERVICES- LEASING	DIVISION OF LEGAL SERVICES	3418 Knipp Drive	Jefferson City	OK KNIPP LLC

COUNTY	LEASE ID	EXPIRES	ANNUAL RENT	COST PER SQ	TOTAL SQ FT	SPACE USE	AGENCY		ADDRESS	СІТҮ	LESSOR
Cole	02600482	6/30/2020	\$77,917.83	\$9.11	8553	Office	SOCIAL SERVICES- LEASING	CHILDREN'S DIVISION	3418 Knipp Drive	Jefferson City	OK KNIPP LLC
Cole	02600482	6/30/2020	\$52,847.11	\$9.11	5801	Office	SOCIAL SERVICES- LEASING	DYS DIVISION OF YOUTH SERVICES	3418 Knipp Drive	Jefferson City	OK KNIPP LLC
Cole	02600482	6/30/2020	\$27,084.03	\$9.11	2973	Office	SOCIAL SERVICES- LEASING	FSD REHAB SERVICES FOR BLIND	3418 Knipp Drive	Jefferson City	OK KNIPP LLC
Cole	02600482	6/30/2020	\$46,433.67	\$9.11	5097	Office	SOCIAL SERVICES- LEASING	FSD CS NORTHEAST REGION	3418 Knipp Drive	Jefferson City	OK KNIPP LLC
Cole	02600482	6/30/2020	\$94,607.35	\$9.11	10385	Office	SOCIAL SERVICES- LEASING	FSD IM NORTHEAST REGION	3418 Knipp Drive	Jefferson City	OK KNIPP LLC
Cole	02600585	6/30/2017	\$37,764.48	\$6.63	5696	Office	CORRECTIONS- LEASING	DIV OF PROBATION & PAROLE	2705 West Main	Jefferson Cty	BUKER MANAGEMENT LLC
Cole	02600660	6/30/2018	\$31,597.68	\$8.22	3844	Office	OFFICE ADMINISTRATION- LEAS	DIV OF PERSONNEL	1730-1738 E Elm Street	Jefferson City	LIBBERT PROPERTIES LLC
Cole	02600660	6/30/2018	\$373,714.08	\$8.22	45464	Office	NATURAL RESOURCES- LEASING	ADMINISTRATIVE SUPPORT	1730-1738 E Elm Street	Jefferson City	LIBBERT PROPERTIES LLC
Cole	02600660	6/30/2018	\$72,163.38	\$8.22	8779	Office	PUBLIC SAFETY- LEASING	DIVISION OF LIQUOR CONTROL	1730-1738 E Elm Street	Jefferson City	LIBBERT PROPERTIES LLC
Cole	02600660	6/30/2018	\$118,474.86	\$8.22	14413	Office	SOCIAL SERVICES- LEASING	FSD IM NORTHEAST REGION	1730-1738 E Elm Street	Jefferson City	LIBBERT PROPERTIES LLC
Cole	02600662	7/31/1996	\$93,869.10	\$0.00	0	Parking	ATTORNEY GENERAL-LEASING	ATTORNEY GENERAL	Parking Lots	Jefferson City	CITY OF JEFFERSON CITY
Cole	02600662	7/31/1996	\$1,982.60	\$0.00	0	Parking	ATTORNEY GENERAL-LEASING	MO OFFICE PROSECUTION SVS	Parking Lots	Jefferson City	CITY OF JEFFERSON CITY
Cole	02600662	7/31/1996	\$4,474.70	\$0.00	0	Parking	OFFICE ADMINISTRATION- LEAS	DIV OF FAC MGMT, DESIGN & CONS	Parking Lots	Jefferson City	CITY OF JEFFERSON CITY
Cole	02600662	7/31/1996	\$5,958.89	\$0.00	0	Parking	ECONOMIC DEVELOPMENT- LEAS	PUBLIC SERVICE	Parking Lots	Jefferson City	CITY OF JEFFERSON CITY
Cole	02600662	7/31/1996	\$498.42	\$0.00	0	Parking	ELEM & SEC EDUCATION-LEAS	DEPT ELEM & SEC EDUCATION	Parking Lots	Jefferson City	CITY OF JEFFERSON CITY

COUNTY	LEASE ID	EXPIRES	ANNUAL RENT	COST PER SQ	TOTAL SQ FT	SPACE USE	AGENCY		ADDRESS	СІТҮ	LESSOR
Cole	02600662	7/31/1996	\$3,477.86	\$0.00	0	Parking	SOCIAL SERVICES- LEASING	DIVISION OF LEGAL SERVICES	Parking Lots	Jefferson City	CITY OF JEFFERSON CITY
Cole	02600662	7/31/1996	\$498.42	\$0.00	0	Parking	SOCIAL SERVICES- LEASING	MMAC MO MEDICAID AUDIT & COMPL	Parking Lots	Jefferson City	CITY OF JEFFERSON CITY
Cole	02600713	6/30/2017	\$125,779.50	\$9.90	12705	Office	HEALTH & SENIOR SERVICES-LEAS	OFFICE OF THE DIRECTOR	912 Wildwood	Jefferson City	LINCOLN WILDWOOD ACQ LLC
Cole	02600713	6/30/2017	\$70,290.00	\$9.90	7100	Office	HEALTH & SENIOR SERVICES-LEAS	ADMINISTRATION	912 Wildwood	Jefferson City	LINCOLN WILDWOOD ACQ LLC
Cole	02600713	6/30/2017	\$7,395.30	\$9.90	747	Office	HEALTH & SENIOR SERVICES-LEAS	DIV OF COMMUNITY & PUBLIC HLTH	912 Wildwood	Jefferson City	LINCOLN WILDWOOD ACQ LLC
Cole	02600713	6/30/2017	\$107,286.30	\$9.90	10837	Office	HEALTH & SENIOR SERVICES-LEAS	DIV OF SENIOR & DISABILITY SRV	912 Wildwood	Jefferson City	LINCOLN WILDWOOD ACQ LLC
Cole	02600713	6/30/2017	\$59,192.10	\$9.90	5979	Office	HEALTH & SENIOR SERVICES-LEAS	DIV OF REGULATION & LICENSURE	912 Wildwood	Jefferson City	LINCOLN WILDWOOD ACQ LLC
Cole	02600722	6/30/2015	\$38,736.00	\$8.00	4842	Office	ECONOMIC DEVELOPMENT- LEAS	JEFFERSON CITY	1716 Four Seasons Drive	Jefferson City	JCMO LLC
Cole	02600722	6/30/2015	\$45,408.00	\$8.00	5676	Office	SOCIAL SERVICES- LEASING	CHILDREN'S DIVISION	1716 Four Seasons Drive	Jefferson City	JCMO LLC
Cole	02600722	6/30/2015	\$26,624.00	\$8.00	3328	Office	SOCIAL SERVICES- LEASING	DYS DIVISION OF YOUTH SERVICES	1716 Four Seasons Drive	Jefferson City	JCMO LLC
Cole	02600722	6/30/2015	\$84,560.00	\$8.00	10570	Office	SOCIAL SERVICES- LEASING	FSD IM NORTHEAST REGION	1716 Four Seasons Drive	Jefferson City	JCMO LLC
Cole	02600791	6/30/2030	\$25,944.25	\$10.30	2518	Office	ATTORNEY GENERAL-LEASING	MO OFFICE PROSECUTION SVS	200 Madison	Jefferson City	HOTEL GOVERNOR OF JEFFERSON
Cole	02600791	6/30/2030	\$120,746.88	\$10.30	11719	Office	OFFICE ADMINISTRATION- LEAS	DIV OF FAC MGMT, DESIGN & CONS	200 Madison	Jefferson City	HOTEL GOVERNOR OF JEFFERSON
Cole	02600791	6/30/2030	\$667,389.51	\$10.30	64773	Office	ECONOMIC DEVELOPMENT- LEAS	PUBLIC SERVICE	200 Madison	Jefferson City	HOTEL GOVERNOR OF JEFFERSON
Cole	02600791	6/30/2030	\$55,587.46	\$10.30	5395	Office	ECONOMIC DEVELOPMENT- LEAS	OFFICE OF PUBLIC COUNSEL	200 Madison	Jefferson City	HOTEL GOVERNOR OF JEFFERSON

COUNTY	LEASE ID	EXPIRES	ANNUAL RENT	COST PER SQ	TOTAL SQ FT	SPACE USE	AGENCY		ADDRESS	CITY	LESSOR
Cole	02600813	6/30/2019	\$1,303.50	\$8.25	158	Office	ELEM & SEC EDUCATION-LEAS	DIVISION OF LEARNING SERVICES	1500 Southridge	Jefferson City	HOWERTON FAMILY PARTNERSHIP LP
Cole	02600813	6/30/2019	\$24,354.00	\$8.25	2952	Office	ELEM & SEC EDUCATION-LEAS	VOCATIONAL REHABILITATION	1500 Southridge	Jefferson City	HOWERTON FAMILY PARTNERSHIP LP
Cole	02600813	6/30/2019	\$192,967.50	\$8.25	23390	Office	ELEM & SEC EDUCATION-LEAS	DISABILITY DETERMINATIONS	1500 Southridge	Jefferson City	HOWERTON FAMILY PARTNERSHIP LP
Cole	02600843	6/30/2018	\$45,121.15	\$8.69	5195	Office	CORRECTIONS- LEASING	OFFICE OF THE DIRECTOR	2728 Plaza Drive	Jefferson Cty	C&R PROPERTIES
Cole	02600847	6/30/2020	\$207,360.00	\$9.37	22140	Office	NATURAL RESOURCES- LEASING	MISSOURI STATE PARKS	1659 East Elm	Jefferson City	P&G DEVELOPMENT CO
Cole	02600847	6/30/2020	\$176,640.00	\$9.37	18860	Office	NATURAL RESOURCES- LEASING	AIR POLLUTION CONTROL PROG	1659 East Elm	Jefferson City	P&G DEVELOPMENT CO
Cole	02601089	6/30/2017	\$6,174.00	\$3.50	1764	Warehouse	AGRICULTURE- LEASING	WEIGHTS AND MEASURES	1327 Hwy 179	Jefferson City	AA ALL STOR
Cole	02601279	7/31/2024	\$24,000.00	\$0.00	0	Parking	ECONOMIC DEVELOPMENT- LEAS	PUBLIC SERVICE COMMISSION	Madison And Capitol	Jefferson City	CITY OF JEFFERSON CITY
Cole	02601353	6/30/2017	\$56,816.48	\$7.84	7247	Office	OFFICE ADMINISTRATION- LEAS	MO ETHICS COMMISSION	3411-A Knipp Drive	e Jefferson City	HOWERTON FAMILY PARTNERSHIP LP
Cole	02601370	6/30/2016	\$90,279.08	\$9.98	9046	Office	JUDICIARY-LEASING	JUDICIARY	121 Alameda Drive	Jefferson City	RICHARD A HOWERTON PROPERTIES
Cole	02601371	6/30/2016	\$288,554.64	\$9.57	30152	Office	JUDICIARY-LEASING	JUDICIARY	3425 Constitution	Jefferson City	RICHARD A HOWERTON PROPERTIES
Cole	02601371	6/30/2016	\$5,167.80	\$9.57	540	Warehouse	JUDICIARY-LEASING	JUDICIARY	3425 Constitution	Jefferson City	RICHARD A HOWERTON PROPERTIES
Cole	02601412	6/30/2018	\$270,906.87	\$6.85	39549	Office	CORRECTIONS- LEASING	OFFICE OF THE DIRECTOR	2715 And 2729 Plaza Drive	Jefferson City	TRB PROPERTIES GROUP LLC
Cole	02601412	6/30/2018	\$23,289.67	\$6.85	3400	Warehouse	CORRECTIONS- LEASING	OFFICE OF THE DIRECTOR	2715 And 2729 Plaza Drive	Jefferson City	TRB PROPERTIES GROUP LLC
Cole	02601412	6/30/2018	\$125,298.45	\$6.85	18292	Warehouse	CORRECTIONS- LEASING	DIV OF PROBATION & PAROLE	2715 And 2729 Plaza Drive	Jefferson City	TRB PROPERTIES GROUP LLC

COUNTY	LEASE ID	EXPIRES	ANNUAL RENT	COST PER SQ	TOTAL SQ FT	SPACE USE	AGENCY		ADDRESS	СІТҮ	LESSOR
Cole	02601531	6/30/2018	\$105,441.00	\$2.10	50210	Warehouse	CORRECTIONS- LEASING	DEPT OF CORRECTIONS	312 Wilson Drive	Jefferson City	RICHARD A HOWERTON PROPERTIES
Cole	02601539	6/30/2013	\$5,280.00	\$0.00	0	Land	PUBLIC SAFETY- LEASING	STATE HIGHWAY PATROL	2601 Eagle Ridge Road Mtm	Jefferson City,	PONDER, BETTY C
Cole	02601879	6/30/2008	\$5,850.00	\$0.00	0	Parking	ATTORNEY GENERAL-LEASING	ATTORNEY GENERAL	211 W. Wall Way (M-T-M)	Jefferson City	CRAIG PROPERTIES LLC
Cole	02602229	6/30/2019	\$143,762.00	\$8.16	17609	Office	CORRECTIONS- LEASING	DIV OF PROBATION & PAROLE	3400 Knipp Drive	Jefferson City	GORDON BUILDERS, INC
Cole	02602230	6/30/2018	\$54,590.40	\$7.65	7136	Office	CORRECTIONS- LEASING	DIV OF PROBATION & PAROLE	3411-B Knipp Drive	Jefferson City	HOWERTON FAMILY PARTNERSHIP LP
Cole	02602239	12/31/2017	\$194.40	\$4.05	48	Warehouse	LEGISLATURE- LEASING	LEGISLATURE	4720 Scruggs Station Road	Jefferson City	WILDWOOD REAL ESTATE CO INC
Cole	02602239	12/31/2017	\$387,333.90	\$4.05	95638	Warehouse	SECRETARY OF STATE-LEASING	SECRETARY OF STATE	4720 Scruggs Station Road	Jefferson City	WILDWOOD REAL ESTATE CO INC
Cole	02602239	12/31/2017	\$181,638.45	\$4.05	44849	Warehouse	OFFICE ADMINISTRATION- LEAS	DIV OF GENERAL SERVICES	4720 Scruggs Station Road	Jefferson City	WILDWOOD REAL ESTATE CO INC
Cole	02602239	12/31/2017	\$1,158.30	\$4.05	286	Warehouse	HEALTH & SENIOR SERVICES-LEAS	DIV OF REGULATION & LICENSURE	4720 Scruggs Station Road	Jefferson City	WILDWOOD REAL ESTATE CO INC
Cole	02602239	12/31/2017	\$878.85	\$4.05	217	Warehouse	SOCIAL SERVICES- LEASING	DFAS DIV FINANCE & ADMIN SVC	4720 Scruggs Station Road	Jefferson City	WILDWOOD REAL ESTATE CO INC
Cole	02602364	12/31/2017	\$5,808.42	\$2.53	2300	Warehouse	LEGISLATURE- LEASING	LEGISLATURE	4720 Scruggs Station Road	Jefferson City	WILDWOOD REAL ESTATE CO INC
Cole	02602364	12/31/2017	\$6,048.33	\$2.53	2395	Warehouse	JUDICIARY-LEASING	SUPREME COURT	4720 Scruggs Station Road	Jefferson City	WILDWOOD REAL ESTATE CO INC
Cole	02602364	12/31/2017	\$7,101.42	\$2.53	2812	Warehouse	ATTORNEY GENERAL-LEASING	ATTORNEY GENERAL	4720 Scruggs Station Road	Jefferson City	WILDWOOD REAL ESTATE CO
Cole	02602364	12/31/2017	\$4,874.02	\$2.53	1930	Warehouse	OFFICE ADMINISTRATION- LEAS	DIV OF INFORMATION SERVICES	4720 Scruggs Station Road	Jefferson City	WILDWOOD REAL ESTATE CO INC
Cole	02602364	12/31/2017	\$38,949.21	\$2.53	15423	Warehouse	OFFICE ADMINISTRATION- LEAS	DIV OF FAC MGMT, DESIGN & CONS	4720 Scruggs Station Road	Jefferson City	WILDWOOD REAL ESTATE CO

COUNTY	LEASE ID	EXPIRES	ANNUAL RENT	COST PER SQ	TOTAL SQ FT	SPACE USE	AGENCY		ADDRESS	СІТҮ	LESSOR
Cole	02602364	12/31/2017	\$22,819.50	\$2.53	9036	Warehouse	OFFICE ADMINISTRATION- LEAS	DFMDC-REAL ESTATE SERVICES	4720 Scruggs Station Road	Jefferson City	WILDWOOD REAL ESTATE CO
Cole	02602364	12/31/2017	\$6,000.35	\$2.53	2376	Warehouse	DIFP-LEASING	PROFESSIONAL REGISTRATION	4720 Scruggs Station Road	Jefferson City	WILDWOOD REAL ESTATE CO INC
Cole	02602364	12/31/2017	\$3,305.75	\$2.53	1309	Warehouse	ECONOMIC DEVELOPMENT- LEAS	DIVISION OF TOURISM	4720 Scruggs Station Road	Jefferson City	WILDWOOD REAL ESTATE CO INC
Cole	02602364	12/31/2017	\$7,591.35	\$2.53	3006	Warehouse	ECONOMIC DEVELOPMENT- LEAS	FINANCIAL MANAGEMENT	4720 Scruggs Station Road	Jefferson City	WILDWOOD REAL ESTATE CO INC
Cole	02602364	12/31/2017	\$7,929.75	\$2.53	3140	Warehouse	ELEM & SEC EDUCATION-LEAS	OFFICE OF ADULT LEARNING & REH		Jefferson City	WILDWOOD REAL ESTATE CO INC
Cole	02602364	12/31/2017	\$36,752.12	\$2.53	14553	Warehouse	HEALTH & SENIOR SERVICES-LEAS	DEPT OF HEALTH & SENIOR SVS	4720 Scruggs Station Road	Jefferson City	WILDWOOD REAL ESTATE CO INC
Cole	02602364	12/31/2017	\$3,086.04	\$2.53	1222	Warehouse	MENTAL HEALTH- LEASING	DIVISION OF DD	4720 Scruggs Station Road	Jefferson City	WILDWOOD REAL ESTATE CO INC
Cole	02602364	12/31/2017	\$984.91	\$2.53	390	Warehouse	NATURAL RESOURCES- LEASING	ADMINISTRATIVE SUPPORT	4720 Scruggs Station Road	Jefferson City	WILDWOOD REAL ESTATE CO INC
Cole	02602364	12/31/2017	\$421.74	\$2.53	167	Warehouse	PUBLIC SAFETY- OPERATING	OFFICE OF THE DIRECTOR	4720 Scruggs Station Road	Jefferson City	WILDWOOD REAL ESTATE CO INC
Cole	02602364	12/31/2017	\$8,657.06	\$2.53	3428	Warehouse	PUBLIC SAFETY- LEASING	OFFICE OF THE DIRECTOR	4720 Scruggs Station Road	Jefferson City	WILDWOOD REAL ESTATE CO INC
Cole	02602364	12/31/2017	\$22,508.87	\$2.53	8913	Warehouse	SOCIAL SERVICES- LEASING	DFAS DIV FINANCE & ADMIN SVC	4720 Scruggs Station Road	Jefferson City	WILDWOOD REAL ESTATE CO INC
Cole	02602364	12/31/2017	\$896.52	\$2.53	355	Warehouse	SOCIAL SERVICES- LEASING	DIVISION OF LEGAL SERVICES	4720 Scruggs Station Road	Jefferson City	WILDWOOD REAL ESTATE CO
Cole	02602364	12/31/2017	\$3,591.12	\$2.53	1422	Warehouse	SOCIAL SERVICES- LEASING	FAMILY SUPPORT DIVISION	4720 Scruggs Station Road	Jefferson City	WILDWOOD REAL ESTATE CO INC
Cole	02602364	12/31/2017	\$3,591.12	\$2.53	1422	Warehouse	SOCIAL SERVICES- LEASING	CHILDREN'S DIVISION	4720 Scruggs Station Road	Jefferson City	WILDWOOD REAL ESTATE CO INC
Cole	02602364	12/31/2017	\$2,093.55	\$2.53	829	Warehouse	SOCIAL SERVICES- LEASING	DYS DIVISION OF YOUTH SERVICES	00	Jefferson City	WILDWOOD REAL ESTATE CO INC

COUNTY	LEASE ID	EXPIRES	ANNUAL RENT	COST PER SQ	TOTAL SQ FT	SPACE USE	AGENCY		ADDRESS	СІТҮ	LESSOR
Cole	02602364	12/31/2017	\$896.52	\$2.53	355	Warehouse	SOCIAL SERVICES- LEASING	MO HEALTHNET DIVISION	4720 Scruggs Station Road	Jefferson City	WILDWOOD REAL ESTATE CO INC
Cole	02602364	12/31/2017	\$85,997.37	\$2.53	34053	Warehouse	CORRECTIONS- LEASING	MO VOC ENT	4720 Scruggs Station Road	Jefferson City	WILDWOOD REAL ESTATE CO
Cole	02602568	6/30/2017	\$26,062.75	\$1.80	14515	Office	SOCIAL SERVICES- LEASING	FAMILY SUPPORT DIVISION	312 Wilson Avenue, Ll	Jefferson City	RICHARD A HOWERTON PROPERTIES
Cole	02602582	9/30/2033	\$51,120.00	\$6.00	8520	Office	OFFICE ADMINISTRATION- LEAS	ADMINISTRATIVE HEARING COM	Jefferson City Post Office	Jefferson City	US POSTAL SERVICE DISBURSING
Cole	02602582	9/30/2033	\$51,936.00	\$6.00	8656	Office	SOCIAL SERVICES- LEASING	DIVISION OF LEGAL SERVICES	Jefferson City Post Office	Jefferson City	US POSTAL SERVICE DISBURSING
Cole	02602590	6/30/2018	\$72,000.00	\$8.00	9000	Office	PUBLIC SAFETY- LEASING	STATE HIGHWAY PATROL	2724 Merchants Drive	Jefferson City	KOLB, LAWRENCE F
Cole	02602717	6/30/2017	\$95,266.00	\$11.50	8284	Office	SOCIAL SERVICES- LEASING	FSD IM NORTHEAST REGION	2023 St. Mary's Boulevard, Ll	Jefferson City	HAROLD D BRAKE INVESTMENTS LLC
Cole	02602742	6/30/2017	\$8,101.08	\$3.24	2500	Warehouse	REVENUE-LEASING	MO LOTTERY COMMISSION	Diamond Game Enterprises Inc.	Jefferson City	DIAMOND GAME ENTERPRISES INC
Cole	02611530	6/30/2021	\$29,600.00	\$9.87	3000	Office	ELEM & SEC EDUCATION-LEAS	MCDHH	3216 Emerald Lane	e Jefferson City	LALE, JASON M
Cole	28202602	6/30/2017	\$16,200.00	\$0.00	0	Parking	ATTORNEY GENERAL-LEASING	ATTORNEY GENERAL	212-222 W Mccarty St	Jefferson Cty	WAL-J-DECK PROPERTIES LLC
Cole	31302655	6/30/2021	\$140,400.00	\$7.82	17964	Office	SOCIAL SERVICES- LEASING	INFORMATION SERVICES &TECH DIV	1621 E Elm Street	Jefferson City	P&G DEVELOPMENT CO
Cole	88602601	6/30/2017	\$2,159.46	\$0.00	0	Parking	ATTORNEY GENERAL-LEASING	ATTORNEY GENERAL	216-222 Rear Mccarty	Jefferson Cty	WAL-J-DECK PROPERTIES LLC
Cole	88602601	6/30/2017	\$8,099.14	\$0.00	0	Parking	SOCIAL SERVICES- LEASING	OFFICE OF THE DIRECTOR	216-222 Rear Mccarty	Jefferson Cty	WAL-J-DECK PROPERTIES LLC
Cole	88602601	6/30/2017	\$4,318.92	\$0.00	0	Parking	SOCIAL SERVICES- LEASING	DFAS DIV FINANCE & ADMIN SVC	216-222 Rear Mccarty	Jefferson Cty	WAL-J-DECK PROPERTIES LLC
Cole	88602601	6/30/2017	\$6,480.70	\$0.00	0	Parking	SOCIAL SERVICES- LEASING	DIVISION OF LEGAL SERVICES	216-222 Rear Mccarty	Jefferson Cty	WAL-J-DECK PROPERTIES LLC

COUNTY	LEASE ID	EXPIRES	ANNUAL RENT	COST PER SQ	TOTAL SQ FT	SPACE USE	AGENCY		ADDRESS	CITY	LESSOR
Cole	88602601	6/30/2017	\$541.03	\$0.00	0	Parking	SOCIAL SERVICES- LEASING	FAMILY SUPPORT DIVISION	216-222 Rear Mccarty	Jefferson Cty	WAL-J-DECK PROPERTIES LLC
Cole	88602601	6/30/2017	\$541.03	\$0.00	0	Parking	SOCIAL SERVICES- LEASING	CHILDREN'S DIVISION	216-222 Rear Mccarty	Jefferson Cty	WAL-J-DECK PROPERTIES LLC
Cole	88602601	6/30/2017	\$541.03	\$0.00	0	Parking	SOCIAL SERVICES- LEASING	DYS DIVISION OF YOUTH SERVICES	216-222 Rear Mccarty	Jefferson Cty	WAL-J-DECK PROPERTIES LLC
Cole	88602601	6/30/2017	\$541.03	\$0.00	0	Parking	SOCIAL SERVICES- LEASING	MO HEALTHNET DIVISION	216-222 Rear Mccarty	Jefferson Cty	WAL-J-DECK PROPERTIES LLC
Cole	88702602	12/31/2002	\$539.78	\$0.00	0	Parking	HEALTH & SENIOR SERVICES-LEAS	DEPT OF HEALTH & SENIOR SVS	319 Broadway St	Jefferson Cty	TETTLEBAUM, HARVEY M
Cole	88702602	12/31/2002	\$2,699.84	\$0.00	0	Parking	SOCIAL SERVICES- LEASING	OFFICE OF THE DIRECTOR	319 Broadway St	Jefferson Cty	TETTLEBAUM, HARVEY M
Cole	88702602	12/31/2002	\$1,620.27	\$0.00	0	Parking	SOCIAL SERVICES- LEASING	DFAS DIV FINANCE & ADMIN SVC	319 Broadway St	Jefferson Cty	TETTLEBAUM, HARVEY M
Cole	88702602	12/31/2002	\$4,320.11	\$0.00	0	Parking	SOCIAL SERVICES- LEASING	DIVISION OF LEGAL SERVICES	319 Broadway St	Jefferson Cty	TETTLEBAUM, HARVEY M